EARAROBEEIERT — 2 N— IBISH —F

20185 7H7H (4+) 3E+=3H

SOl T R3® KB [EE] B

EZS

= ‘

[REBE] — | & (£) 12000 AR

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— e 4 3 | ENEME 1:11.8 5-4 37.0| 84.2 | 5 504 | BREBFZ (FEH)
11714 =K>EOT K> 56.0 =) (-1g) | IVFEIAER
L:hxexy B:ZA EOZILE = %
_=x - 4 3 | HILELF 1:11.8 12-12 [ 36.2| 84.0 | 3 444 | BAEE (RR)
ol1|o|2—FE=U 2R 56.0 (NF) (-a) | FEIERIE
Z:A—-LFLf4a B:IIXZCNERR JIXZLTp—LI
5 t 3 | BEREE 1:11.8 6-6 36.8| 84.1 | 9 512 | TRt ()
3 3 =1 * 56.0 7€) -10) (%) /w=>F14—%3TLy KR
ARG TTR BATLRET A BMEAZZY K
4 3 | RIEARM 1:11.9 1-1 37.5| 83.3 | 1 490 |PRKRE (RR)
4]8|16| A¥1—% 4L 2540 (F2%) w2) | W AFTTR-LT TR
bR B4V HTTXR [ELaMEIIES
W RS H— Ho3 | %EHE 1:12.0 2-2 37.5| 8.4 | 2 | 464 |FAARE (RR)
51815 Ly FZ Y %7550 (1/2) (-2 | ) EFEH-2L—S>T
:O0—-Kp+a7 B:75> -0 IR
5 s 4 3 | AEBZ 1:12.2 10-10 | 36.7| 80.3 | 7 438 |EHRE (ER)
6111 X437 E/ 56.0 (1 1/4) (-4) TAZEF It
L2y T bt —Fr—K B:RyTa-T)o&X =Eivie
= # o3 | NIXERE 1:12.2 4-4 37.5| 80.5 | 10 | 416 |FNERE (FF) i
77|13 X7 — £52.0 7€) 4o | B) BrF-L—sy
LN=v774 B:74%7 J =Y Tr—L
5 . 4 3 | =X 1:12.3 6-8 37.2| 79.5 | 6 46 | SHE— (FH)
8l5l10| Y2 —>F1h 56.0 (1/2) (-6 | =N
LixAagk-5— B:Fra-s4-> [l e]
N BERX 12, - . . EiEs (EX)
A4S a9FIPH B 3 e (11 132/46) 12-12 | 37.0| 76.6 | 12 :1_710) i
XA oavHLyy B:vIES B O H45
5 3 | kOEH 1:12.6 6-6 37.6| 76.9 | 13 | 4 Bz (RR)
AYEH ML # 54.0 ) (ff) 23 E (%)
LHIRT T B:KY)—-3I-71 SFREE
= 4 3 | EHEBE 1:12.6 9-8 37.3] 76.7 | 11 | 498 | AXRED (FH)
i Al £54.0 v (=) | ) K77 —L
A0 BULIRFTEAL HREM EVNI—Tr—L
9t # 3 | BEAS 1:12.7 14-14  [36.8| 75.7 | 8 | 43¢ |BOIREZ (FR) _ .
M 54.0 (3/4) () | W) JUXZF 45Tl KR
L4 0 B:xAQ-Y—32X SRS
1BKI— 2. - . . FHhE— (EXR)
ey —Ibw L — "3 5%?0 (11 112/‘?) 10710 5.4\ 74.0 ! g? EHE%
LNn—ErTv— BA-FLH-L HE77—»4L
s Soa gy [iE] F # il :13. = . . HRFE (EXR)
X499 N 4 3 e i (12113/23) 15-15 36.9| 70.0 | 15 (5_264) mzkg’zlié
R:vavrshsT B:A4aINAINX bl vae)
. “ 4 3 | TRUE—EB 1:14.3 2-2 39.8| 64.0 | 14 | 426 |iEKAE (BR)
L1xNDY 54.0 ® o) W) Fr LA YRFA
A:Raven’s Pass B XR—UZXy—7> A—L— =T vINr - Ty—LERS
B 3 E-E - : — eiEEe (BER)
NIy ey Rk—2 3 i (11.154/.5 16-16 | 36.9 | 57.8 | 16 (ﬁi) ol td
R:AO—-K7IF47 B:AEY-ATO=— FrRAFy bT7—L4A
@ 71 L
) 48.7-37.4
NA>&4 L4 | 12.3-10.8-11.3-12.1-12.3-13.0
® I —F—@EBIERL
1T=7r=
20—7—
dal=3r= 16(9,15)13,14(3,11,10)6(1,7) (2,8) 12-4=5
40—+ — 16(9,15)-(13,14) (3,11) (6,10) (1,7) (2,8) 12-4=5
[ N3
B O 14 1,150 714K 2-14 980M & 1-7 2,460 JEHE 2-3-14 30,210
8 B 14 330M 3-14 4,240MH B = 2-14 3,850 B 14-2-3 182,170
2 1909 2-3 1,950M B H 14-2 8,650
8 700M

ABICOVWTRDTEEERROODE. TR LIV,




